BID TABS PROJECT 20-1015 30th AVENUE RECONSTRUCTION BID DATE: FEBRUARY 17, 2021

A.W. Oakes & Son Stark Pavement Corp. LaLonde Contractors Brookfield, WI Waukesha, WI Racine, WI Item Number ROADWAY Quantity Unit Unit Price Total Unit Price Total Unit Price Total 204.0100 Removing Concrete Pavement 26568 SY \$9 93 \$263.820.24 \$10.99 \$291.982.32 \$3.99 \$106.006.32 Removing Pavement Butt Joints \$6.986.25 \$6.948.99 204.0105 \$12.00 \$7.452.00 \$11.25 \$11.19 621 SY 204.0115 Removing Asphaltic Surface Butt Joints 228 SY \$12.00 \$2,736.00 \$11.25 \$2,565.00 \$11.19 \$2,551.32 204.0155 Removing Concrete Sidewalk 3673 \$21,340.13 \$22,038.00 SY \$5.81 \$6.00 \$5.29 \$19,430.17 204.0165 125 \$1.375.00 \$10.00 \$1,250,00 \$5.00 \$625.00 Removing Guardrail ΙF \$11.00 204.0195 Removing Concrete Bases \$650.00 \$525.00 5 EΑ \$130.00 \$105.00 \$126.03 \$630.15 204.0250 \$770.00 \$1,362.00 \$1,362.00 Abandoning Manholes 2 EΑ \$385.00 \$681.00 \$681.00 204.9060.S.01 Removing Bollard \$200.00 \$75.00 \$227.67 EΑ \$200.00 \$75.00 \$227.67 204.9060.S.02 Removing Street Light Poles 46 \$5,290.00 \$100.00 \$4,600.00 \$5,232.50 EΑ \$115.00 \$113.75 205.0100 **Excavation Common** 13527 CY \$19.73 \$266,887.71 \$16.99 \$229,823.73 \$14.92 \$201,822.84 213.0100 Finishing Roadway (Project) FΑ \$3,000.00 \$3,000.00 \$2,000.00 \$2,000.00 \$968.00 \$968.00 1 305.0120 Base Aggregate Dense 1-1/4 Inch 12389 TON \$0.01 \$123.89 \$0.01 \$123.89 \$18.98 \$235,143.22 310.0100. Base Aggregate Open Graded TON \$3,000.00 \$1,893.75 \$22.00 \$1,650.00 75 \$40.00 \$25.25 311.0110 Breaker Run 5369 TON \$0.01 \$53.69 \$0.01 \$53.69 \$18.98 \$101,903.62 Concrete Base 8-Inch 71 320.0145 SY \$45.00 \$3.195.00 \$40.00 \$2.840.00 \$53.99 \$3.833.29 415.0080 Concrete Pavement 8-Inch 23868 SY \$902,210.40 \$978,588.00 \$35.54 \$848,268.72 \$37.80 \$41.00 Concrete Pavement Gaps – Undistributed \$4,800.00 \$4,000.00 415.0210 8 EΑ \$600.00 \$500.00 \$975.67 \$7,805.36 Concrete Pavement HES 8-Inch \$5,000.00 415.1080 100 SY \$45.00 \$4,500.00 \$50.00 \$74.84 \$7,484.00 415.4100 Concrete Pavement Joint Filling 26508 SY \$2.00 \$53,016.00 \$1.70 \$45,063.60 \$1.29 \$34,195.32 Concrete Driveway 6-Inch 416.0160 1782 SY \$44.00 \$78,408,00 \$46.00 \$81.972.00 \$44.12 \$78.621.84 416.0180 Concrete Driveway 8-Inch 95 SY \$50.00 \$4,750.00 \$52.00 \$4,940.00 \$58.66 \$5,572.70 \$2,627.50 416.0260 Concrete Driveway HES 6-Inch 50 SY \$2,600.00 \$2,750.00 \$52.00 \$55.00 \$52.55 416.0280 Concrete Driveway HES 8-Inch 50 SY \$53.00 \$2,650.00 \$62.00 \$3,100.00 \$69.89 \$3,494.50 416.0620 Drilled Dowel Bars 484 EΑ \$15.75 \$7.623.00 \$15.00 \$7.260.00 \$13.47 \$6.519.48 455.0605 Tack Coat GAL \$2.50 \$152.50 \$305.00 \$2.20 \$134.20 61 \$5.00 460.6224 HMA Pavement 5 MT 58-28 S 75 TON \$12,750.00 \$180.00 \$13,500.00 \$210.00 \$15,750.00 \$170.00 Asphaltic Surface Driveways and Field Entrances \$14,580.00 465.0120 54 TON \$300.00 \$16,200.00 \$270.00 \$288.50 \$15,579.00 601.0409 Concrete Curb & Gutter 30-Inch Type A 9502 LF \$17.00 \$161.534.00 \$17.25 \$163,909,50 \$18.79 \$178,542,58 601.0600 Concrete Curb Pedestrian 80 LF \$37.00 \$2.960.00 \$25.00 \$2,000.00 \$30.06 \$2,404.80 602.0405 Concrete Sidewalk 4-Inch 15348 SF \$4.70 \$72,135.60 \$4.90 \$75,205.20 \$4.82 \$73,977.36 602.0415 Concrete Sidewalk 6-Inch 1348 SF \$7.15 \$9,638.20 \$6.00 \$8,088.00 \$6.53 \$8,802.44 Curb Ramp Detectable Warning Field Natural Patina 602.0515 360 SF \$35.00 \$12,600.00 \$38.00 \$13.680.00 \$32.37 \$11,653.20 602.0615 Curb Ramp Detectable Warning Field Radial Natural Patina 320 SF \$75.00 \$24,000,00 \$44.00 \$14.080.00 \$51.73 \$16,553.60 602.1500 Concrete Steps 25 SF \$100.00 \$2,500.00 \$60.00 \$1,500.00 \$100.83 \$2,520.75 \$7,982.50 612.0106 Pipe Underdrain 6-Inch 1030 LF \$11.00 \$11,330.00 \$7.75 \$23.00 \$23,690.00 619.1000 Mobilization EΑ \$98,300.00 \$98,300.00 | \$200,694.71 \$200,694.71 | \$111,157.71 \$111,157.71 1 621.1100 Landmark Reference Monuments and Cast Iron Covers EΑ \$1,500.00 \$1,500.00 \$1,200.00 \$1,200.00 \$1,366.00 \$1,366.00 624.0100 Water 120 MGAL \$25.00 \$3.000.00 \$25.00 \$3.000.00 \$39.60 \$4.752.00 625.0100 Topsoil 3142 SY \$4.10 \$12,882.20 \$5.50 \$17,281.00 \$4.10 \$12,882.20 628.1104 Erosion Bales 30 EΑ \$5.00 \$150.00 \$10.00 \$300.00 \$5.00 \$150.00 628.1905 Mobilizations Erosion Control 2 EΑ \$100.00 \$200.00 \$150.00 \$300.00 \$100.00 \$200.00 628.1910 Mobilizations Emergency Erosion Control 4 EΑ \$100.00 \$400.00 \$200.00 \$800.00 \$100.00 \$400.00 628.7005 Inlet Protection Type A 70 EΑ \$40.00 \$2,800.00 \$50.00 \$3,500.00 \$40.00 \$2,800.00 628.7010 Inlet Protection Type B 82 EΑ \$50.00 \$4,100.00 \$55.00 \$4,510.00 \$50.00 \$4,100.00

C829/2010 Intell Protection Type D S0	628.7015	Inlet Protection Type C	84	EA	\$50.00	\$4,200.00	\$60.00	\$5,040.00	\$50.00	\$4,200.00
629/210 Fertilizer Type B 2 CWT 966/00 \$190.00 \$190.00 \$86.00 \$190.00 \$32.00 \$22.00 \$31.750.00 \$32.00 \$22.00 \$32.00 \$22.00 \$32.00 \$22.00 \$32.00		,, ,, ,, ,, ,, ,, ,, ,, ,, ,, ,, ,, ,,			<u> </u>	. ,				
6311000 Sod Ularer 70						. ,			· ·	. ,
631,1000 Sod Lawn 3142 SY \$5.50 \$17,281.00 \$4.50 \$14,139.00 \$5.50 \$17,281.00 \$4.50 \$14,139.00 \$5.60 \$17,281.00 \$4.50 \$14,139.00 \$5.60 \$17,281.00 \$4.50 \$14,139.00 \$5.60 \$1.72230		7.								· .
637.2210 Signs Type II Reflective F										
637.2230 Signs Type I Reflective F										
638,2002 Removing Signs Type II		Signs Type II Reflective F								
643,0000 Removing Small Sign Supports						· .				
643.000 Field Office Type B						. ,		- ' '		. ,
643.0300 Traffic Control Drums 60947 DAY \$0.10 \$6.094.70 \$0.10 \$6.094.70 \$0.10 \$6.094.70 \$0.20 \$875.20 \$0.20					· ·	· ·			· ·	\$9.736.00
643 0410 Traffic Control Barricades Type III								,		\$6,094.70
643.0765 Traffic Control Barricades Type III										
643.0705 Traffic Control Warning Lights Type A 21480 DAY \$0.10 \$2,148.00 \$0.08 \$1,718.40 \$0.08 \$2.90.08 \$3.000 643.0000 Traffic Control Signs 46173 DAY \$0.25 \$11,543.25 \$0.22 \$10,158.06 \$0.22 \$10,158.06 \$0.22 \$10,158.06 \$0.22 \$10,158.06 \$0.22 \$10,158.06 \$0.22 \$10,158.06 \$0.22 \$10,158.06 \$0.22 \$10,158.06 \$0.22 \$10,158.06 \$0.22 \$10,158.06 \$0.22 \$10,158.06 \$0.22 \$10,158.06 \$0.22 \$10,158.06 \$0.22 \$10,158.06 \$0.22 \$10,158.06 \$0.22 \$10,158.06 \$0.22 \$10,158.06 \$0.25 \$10,000 \$10,00									·	\$3,786.30
643.0715 Traffic Control Warning Lights Type C 3626 DAY \$0.10 \$362.60 \$0.08 \$290.08 \$290.08 \$290.08 \$43.050 Traffic Control Signs \$46173 DAY \$0.25 \$11.543.25 \$0.22 \$10.158.06 \$0.20 \$10.00 \$10.00 \$0.70.00 \$0.0										\$1,718.40
643.0900 Traffic Control Signs PCMS		0 0 7.								
643.1050 Traffic Control Signs PCMS 14		0 0 7:								\$10,158.06
G45.5000 Traffic Control 1			_			. ,		· ·	· ·	\$700.00
645.0111 Geotextile Type DF Schedule A 520 SY \$2.00 \$1.04.00 \$0.70 \$364.00 \$1.00 \$552.00 645.0120 Geotextile Type HR 50 SY \$6.00 \$300.00 \$3.00 \$3.00 \$180.00 \$15.00 \$575.00 \$645.0220 Geogrid Type SR 12000 SY \$0.01 \$120.00 \$0.01 \$120.00 \$1.75 \$21,000.										\$30,000.00
645.0120 Geotexille Type HR						. ,	. ,	· · ·	' '	. ,
645.0220 Geogrid Type SR						. ,				
646.1020 Marking Line Epoxy 4-Inch 470 LF \$1.00 \$20.879 0.0 \$9.95 \$19.835.05 \$9.95 \$19.835.05 \$0.95 \$19.835.05 \$0.95 \$19.835.05 \$0.95 \$19.835.05 \$0.95 \$19.835.05 \$0.95 \$19.835.05 \$0.95 \$19.835.05 \$0.95 \$19.835.05 \$0.95 \$19.835.05 \$0.95 \$19.835.05 \$1.05 \$1.60 \$752.00 \$1.60 \$752.00 \$2.040.00 \$255.00 \$2.040.00 \$255.00 \$2.040.00 \$255.00 \$2.040.00 \$255.00 \$2.040.00 \$255.00 \$2.040.00 \$2.55.00 \$2.040.00 \$2.55.00 \$2.040.00 \$2.55.00 \$2.040.00 \$2.55.00 \$2.040.00 \$2.55.00 \$2.040.00 \$2.55.00 \$2.040.00 \$2.55.00 \$2.040.00 \$2.55.00 \$2.040.00 \$2.55.00 \$2.040.00 \$2.55.00 \$2.040.00 \$2.55.00 \$2.040.00 \$2.55.00 \$2.040.00 \$2.55.00 \$2.040.00 \$2.55.00 \$2.040.00 \$2.55.00 \$2.040.00 \$2.55.00 \$2.040.00 \$2.55.00 \$2.040.00 \$2.05.00 \$2.00.0										\$21,000.00
646.3020 Marking Line Epoxy 8-Inch										\$19,835.05
646.5020 Marking Stop Line Epoxy 18-Inch 160 LF \$12.75 \$2,040.00 \$255.00 \$2,040.00 \$2,040.00 \$255.00 \$2,040.00										
646.6120 Marking Stop Line Epoxy 18-Inch 160 LF \$12.75 \$2.040.00 \$12.75 \$2.040.00 \$12.75 \$2.040.00 \$12.75 \$2.040.00 \$12.75 \$2.040.00 \$12.75 \$2.040.00 \$4.07.00 \$4.										\$2,040.00
Add.7120 Marking Diagonal Epoxy 12-Inch 86						• /				\$2,040.00
646.7420 Marking Crosswalk Epoxy Traverse Line 6-Inch 1226 LF \$8.50 \$10,421.00 \$8.50 \$10,421.00 \$8.50 \$10,421.00 \$8.50 \$10,421.00 \$8.50 \$10,421.00 \$8.50 \$10,021.00 \$10.00 \$1.00						. ,				\$881.50
646.9000 Marking Removal Line 4-Inch — Undistributed 100 LF \$2.00 \$200.00 \$5.00 \$500.00 \$1.00 \$100.00 \$4.00										\$10,421.00
Edgo Construction Staking Curb Ramps Construction Staking Supplemental Control (Project) Const										
649.0150 Temporary Marking Line Removable Tape 4-Inch 5497 LF \$1.00 \$5,497.00 \$0.80 \$4,397.60 \$0.80 \$4,397.60 \$0.80 \$4,397.60 \$0.80 \$4,397.60 \$0.80 \$4,397.60 \$0.80 \$4,397.60 \$0.80 \$4,397.60 \$0.80 \$4,397.60 \$0.80 \$4,397.60 \$0.80 \$4,397.60 \$0.80 \$4,397.60 \$0.80 \$4,597.60 \$0.80 \$4,597.60 \$0.80 \$4,597.60 \$0.80 \$320.00 \$1.60 \$320.00 \$1.60 \$320.00 \$1.60 \$320.00 \$1.60 \$320.00 \$1.60 \$320.00 \$1.60 \$320.00 \$1.60 \$320.00 \$1.60 \$320.00 \$1.60 \$320.00 \$1.60 \$320.00 \$1.60 \$320.00 \$1.60 \$320.00 \$1.60 \$320.00 \$1.60 \$320.00 \$1.60 \$320.00 \$1.60 \$320.00 \$1.60 \$320.00 \$1.60										\$1,003.20
649.0250 Temporary Marking Line Removable Tape 8-Inch 200 LF \$1.60 \$320.00 \$1.60 \$320.00 \$1.60 \$320.00 \$650.4500 \$650.4500 \$650.4500 \$650.4500 \$45.55 \$1.00 \$1.00			5497	LF		. ,			·	\$4,397.60
650.4500 Construction Staking Subgrade 4555 LF \$0.01 \$45.55 \$0.01 \$45.55 \$1.00 \$4,555 \$60.5500 Construction Staking Curb Gutter and Curb & Gutter 9502 LF \$0.01 \$95.02 \$0.80 \$7,601.60 \$0.80 \$7,601.60 \$0.80 \$7,601.60 \$0.80 \$7,601.60 \$0.80 \$7,601.60 \$0.80 \$7,601.60 \$0.80 \$0.7001						. ,			· ·	\$320.00
650.5500 Construction Staking Curb Gutter and Curb & Gutter 9502 LF \$0.01 \$95.02 \$0.80 \$7,601.60 \$0.80 \$7,601.60 \$650.7000 Construction Staking Concrete Pavement 4555 LF \$0.01 \$45.55 \$1.00 \$4,555.00 \$1.00 \$4,555.00 \$1.00 \$4,555.00 \$1.00 \$4,555.00 \$1.00 \$4,555.00 \$1.00 \$4,555.00 \$1.00 \$4,555.00 \$1.00 \$4,555.00 \$1.00 \$4,555.00 \$1.00 \$4,555.00 \$1.00 \$4,555.00 \$1.00 \$4,555.00 \$1.00 \$4,555.00 \$1.00 \$4,555.00 \$1.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,40		Construction Staking Subgrade			<u> </u>				· ·	\$4,555.00
650.7000 Construction Staking Concrete Pavement 4555 LF \$0.01 \$45.55 \$1.00 \$4,555.00 \$1.00 \$4,555.00 650.8500 Construction Staking Electrical Installations (Project) 1 LS \$2,500.00 \$2,320.00 \$2										\$7,601.60
650.8500 Construction Staking Electrical Installations (Project) 1 LS \$2,500.00 \$2,320.00 \$2,00.00 \$1,400.00									·	\$4,555.00
650.9000 Construction Staking Curb Ramps 58 EA \$150.00 \$8,700.00 \$150.00 \$8,700.00 650.9910 Construction Staking Supplemental Control (Project) 1 LS \$1,500.00 \$1,4										\$2,320.00
650.9910 Construction Staking Supplemental Control (Project) 1 LS \$1,500.00 \$1,400.00 <th< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>\$8,700.00</td></th<>										\$8,700.00
650.9920 Construction Staking Slope Stakes 4555 LF \$1.00 \$4,555.00 \$0.70 \$3,188.50 \$0.70 \$3,188.50 652.0225 Conduit Rigid Nonmetallic Schedule 40 2-Inch 5702 LF \$6.30 \$35,922.60 \$6.26 \$35,694.52 \$6.26 \$35,694. 652.0235 Conduit Rigid Nonmetallic Schedule 40 3-Inch 818 LF \$8.75 \$7,157.50 \$8.69 \$7,108.42 \$8.69 \$7,108.42 652.0605 Conduit Special 2-Inch 251 LF \$10.75 \$2,698.25 \$10.69 \$2,683.19 \$10.69 \$2,683.19 653.0135 Pull Boxes Steel 24x36-Inch 12 LF \$815.00 \$9,780.00 \$812.54 \$9,750.48 \$812.54 \$9,750.4 653.0140 Pull Boxes Steel 24x42-Inch 8 EA \$835.00 \$6,680.00 \$829.66 \$6,637.28 \$829.66 \$6,637.28 \$829.66 \$6,637.28 \$829.66 \$6,637.28 \$829.66 \$6,637.28 \$829.66 \$6,637.28 \$829.66 \$6,637.28 \$829.66 \$6,637.28										\$1,400.00
652.0225 Conduit Rigid Nonmetallic Schedule 40 2-Inch 5702 LF \$6.30 \$35,922.60 \$6.26 \$35,694.52 \$6.26			4555							\$3,188.50
652.0235 Conduit Rigid Nonmetallic Schedule 40 3-Inch 818 LF \$8.75 \$7,157.50 \$8.69 \$7,108.42 \$8.69 \$7,108.42 652.0605 Conduit Special 2-Inch 251 LF \$10.75 \$2,698.25 \$10.69 \$2,683.19 \$10.69 \$2,683.1 653.0135 Pull Boxes Steel 24x36-Inch 12 LF \$815.00 \$9,780.00 \$812.54 \$9,750.4 653.0140 Pull Boxes Steel 24x42-Inch 8 EA \$835.00 \$6,680.00 \$829.66 \$6,637.28 \$829.66 \$6,637.2 653.0905 Removing Pull Boxes 2 EA \$75.00 \$150.00 \$70.07 \$140.14 \$70.07 \$140.14 654.0101 Concrete Bases Type 1 4 EA \$700.00 \$2,800.00 \$690.31 \$2,761.24 \$690.31 \$2,761.24 654.0102 Concrete Bases Type 2 2 EA \$1,100.00 \$2,200.00 \$1,095.19 \$2,190.3 654.0105 Concrete Bases Type 5 37 EA \$910.00 \$33,670.00										\$35,694.52
652.0605 Conduit Special 2-Inch 251 LF \$10.75 \$2,698.25 \$10.69 \$2,683.19 \$10.69 \$2,683.7 653.0135 Pull Boxes Steel 24x36-Inch 12 LF \$815.00 \$9,780.00 \$812.54 \$9,750.48 \$812.54 \$9,750.4 653.0140 Pull Boxes Steel 24x42-Inch 8 EA \$835.00 \$6,680.00 \$829.66 \$6,637.28 \$829.66 \$6,637.28 653.0905 Removing Pull Boxes 2 EA \$75.00 \$150.00 \$70.07 \$140.14 \$70.07 \$140.14 654.0101 Concrete Bases Type 1 4 EA \$700.00 \$2,800.00 \$690.31 \$2,761.24 \$690.31 \$2,761.2 654.0102 Concrete Bases Type 2 2 EA \$1,100.00 \$2,200.00 \$1,095.19 \$2,190.3 \$1,095.19 \$2,190.3 654.0105 Concrete Bases Type 5 37 EA \$910.00 \$33,670.00 \$905.27 \$33,494.99 \$905.27 \$33,494.99 654.0110 Concrete Bases Type 10 <				LF						\$7,108.42
653.0135 Pull Boxes Steel 24x36-Inch 12 LF \$815.00 \$9,780.00 \$812.54 \$9,750.48 \$812.54 \$9,750.48 653.0140 Pull Boxes Steel 24x42-Inch 8 EA \$835.00 \$6,680.00 \$829.66 \$6,637.28 \$829.66 \$6,637.2 653.0905 Removing Pull Boxes 2 EA \$75.00 \$150.00 \$70.07 \$140.14 \$70.07 \$140.14 654.0101 Concrete Bases Type 1 4 EA \$700.00 \$2,800.00 \$690.31 \$2,761.24 \$690.31 \$2,761.2 654.0102 Concrete Bases Type 2 2 EA \$1,100.00 \$2,200.00 \$1,095.19 \$2,190.38 \$1,095.19 \$2,190.3 654.0105 Concrete Bases Type 5 37 EA \$910.00 \$33,670.00 \$905.27 \$33,494.99 \$905.27 \$33,494.99 654.0110 Concrete Bases Type 10 2 EA \$4,500.00 \$9,000.00 \$4,463.77 \$4,463.77 \$8,927.54			251	LF	<u> </u>	· ,			<u> </u>	\$2,683.19
653.0140 Pull Boxes Steel 24x42-Inch 8 EA \$835.00 \$6,680.00 \$829.66 \$6,637.28 \$829.66 \$6,637.28 653.0905 Removing Pull Boxes 2 EA \$75.00 \$150.00 \$70.07 \$140.14 \$70.07 \$140.14 654.0101 Concrete Bases Type 1 4 EA \$700.00 \$2,800.00 \$690.31 \$2,761.24 \$690.31 \$2,761.24 654.0102 Concrete Bases Type 2 2 EA \$1,100.00 \$2,200.00 \$1,095.19 \$2,190.38 \$1,095.19 \$2,190.3 654.0105 Concrete Bases Type 5 37 EA \$910.00 \$33,670.00 \$905.27 \$33,494.99 \$905.27 \$33,494. 654.0110 Concrete Bases Type 10 2 EA \$4,500.00 \$9,000.00 \$4,463.77 \$4,463.77 \$8,927.54 \$4,463.77 \$8,927.54		•		LF					· ·	\$9,750.48
653.0905 Removing Pull Boxes 2 EA \$75.00 \$150.00 \$70.07 \$140.14 \$70.07 \$140.14 654.0101 Concrete Bases Type 1 4 EA \$700.00 \$2,800.00 \$690.31 \$2,761.24 \$690.31 \$2,761.24 654.0102 Concrete Bases Type 2 2 EA \$1,100.00 \$2,200.00 \$1,095.19 \$2,190.38 \$1,095.19 \$2,190.36 654.0105 Concrete Bases Type 5 37 EA \$910.00 \$33,670.00 \$905.27 \$33,494.99 \$905.27 \$33,494.99 654.0110 Concrete Bases Type 10 2 EA \$4,500.00 \$9,000.00 \$4,463.77 \$8,927.54 \$4,463.77 \$8,927.54						• •				\$6,637.28
654.0101 Concrete Bases Type 1 4 EA \$700.00 \$2,800.00 \$690.31 \$2,761.24 \$690.31 \$2,761.2 654.0102 Concrete Bases Type 2 2 EA \$1,100.00 \$2,200.00 \$1,095.19 \$2,190.38 \$1,095.19 \$2,190.30 654.0105 Concrete Bases Type 5 37 EA \$910.00 \$33,670.00 \$905.27 \$33,494.99 \$905.27 \$33,494. 654.0110 Concrete Bases Type 10 2 EA \$4,500.00 \$9,000.00 \$4,463.77 \$8,927.54 \$4,463.77 \$8,927.54										\$140.14
654.0102 Concrete Bases Type 2 2 EA \$1,100.00 \$2,200.00 \$1,095.19 \$2,190.38 \$1,095.19 \$2,190.36 654.0105 Concrete Bases Type 5 37 EA \$910.00 \$33,670.00 \$905.27 \$33,494.99 \$905.27 \$33,494. 654.0110 Concrete Bases Type 10 2 EA \$4,500.00 \$9,000.00 \$4,463.77 \$8,927.54 \$4,463.77 \$8,927.54										\$2,761.24
654.0105 Concrete Bases Type 5 37 EA \$910.00 \$33,670.00 \$905.27 \$33,494.99 \$905.27 \$33,494. 654.0110 Concrete Bases Type 10 2 EA \$4,500.00 \$9,000.00 \$4,463.77 \$8,927.54 \$4,463.77 \$8,927.54										\$2,190.38
654.0110 Concrete Bases Type 10 2 EA \$4,500.00 \$9,000.00 \$4,463.77 \$8,927.54 \$4,463.77 \$8,927.55							. ,		. ,	\$33,494.99
		* '								\$8,927.54
654.0217 Concrete Control Cabinet Bases Type 9 Special 1 EA \$1,800.00 \$1,800.00 \$1,719.69 \$1,719.69 \$1,719.69 \$1,719.69										\$1,719.69
										\$2,640.26

655.0230	Cable Traffic Signal 5-14 AWG	473	LF	\$1.00	\$473.00	\$0.96	\$454.08	\$0.96	\$454.08
655.0240	Cable Traffic Signal 7-14 AWG	156	LF	\$1.00	\$187.20	\$1.20	\$187.20	\$1.20	\$187.20
655.0260	Cable Traffic Signal 12-14 AWG	619	LF	\$1.80	\$1,114.20	\$1.76	\$1,089.44	\$1.76	\$1,089.44
655.0270	Cable Traffic Signal 15-14 AWG	531	LF LF	\$1.00	\$1,114.20	\$1.76	\$1,069.44	\$1.76	\$1,069.44
655.0320		506	LF	\$1.30			\$657.80	\$1.30	\$657.80
655.0515	Cable Type UF 2-10 AWG Grounded	1030	LF	\$1.30	\$657.80 \$772.50	\$1.30 \$0.75		\$1.30	\$772.50
	Electrical Wire Traffic Signals 10 AWG		LF	<u> </u>		•	\$772.50	· ·	
655.0610	Electrical Wire Lighting 12 AWG	4784		\$0.60	\$2,870.40	\$0.57	\$2,726.88	\$0.57	\$2,726.88
655.0625	Electrical Wire Lighting 6 AWG	29450	LF	\$1.25	\$36,812.50	\$1.21	\$35,634.50	\$1.21	\$35,634.50
656.0200.01	Electrical Service Meter Breaker Pedestal (30th Ave & 45th St)	1	LS	\$1,000.00	\$1,000.00	\$890.31	\$890.31	\$890.31	\$890.31
	Electrical Service Meter Breaker Pedestal (30 th Ave & 50 th St)	1	LS	\$1,000.00	\$1,000.00	\$890.31	\$890.31	\$890.31	\$890.31
656.0200.03		1	LS	\$1,000.00	\$1,000.00	\$890.31	\$890.31	\$890.31	\$890.31
657.0100	Pedestal Bases	4	EA	\$220.00	\$880.00	\$217.04	\$868.16	\$217.04	\$868.16
657.0255	Transformer Bases Breakaway 11 1/2-Inch Bolt Circle	39	EA	\$380.00	\$14,820.00	\$377.42	\$14,719.38	\$377.42	\$14,719.38
657.0310	Poles Type 3	2	EA	\$2,500.00	\$5,000.00	\$2,460.44	\$4,920.88	\$2,460.44	\$4,920.88
657.0322	Poles Type 5-Aluminum	37	EA	\$1,200.00	\$44,400.00	\$1,199.86	\$44,394.82	\$1,199.86	\$44,394.82
657.0350	Poles Type 10	2	EA	\$6,800.00	\$13,600.00	\$6,786.21	\$13,572.42	\$6,768.21	\$13,536.42
657.0420	Traffic Signal Standards Aluminum 13-Foot	2	EA	\$600.00	\$1,200.00	\$590.92	\$1,181.84	\$590.92	\$1,181.84
657.0425	Traffic Signal Standards Aluminum 15-Foot	2	EA	\$620.00	\$1,240.00	\$615.47	\$1,230.94	\$615.47	\$1,230.94
657.0530	Monotube Arms 30-FT	2	EA	\$3,900.00	\$7,800.00	\$3,846.84	\$7,693.68	\$3,846.84	\$7,693.68
657.0590	Trombone Arms 20-FT	2	EA	\$1,600.00	\$3,200.00	\$1,579.60	\$3,159.20	\$1,579.60	\$3,159.20
657.0614	Luminaire Arms Single Member 4-Inch Clamp 8-Foot	2	EA	\$275.00	\$550.00	\$268.87	\$537.74	\$268.87	\$537.74
657.0615	Luminaire Arms Single Member 4 1/2-Inch Clamp 8-Foot	37	EA	\$245.00	\$9,065.00	\$241.05	\$8,918.85	\$241.05	\$8,918.85
657.0810	Luminaire Arms Steel 10-Foot	2	EA	\$700.00	\$1,400.00	\$684.37	\$1,368.74	\$684.37	\$1,368.74
658.0173	Traffic Signal Face 3S 12-Inch	12	EA	\$640.00	\$7,680.00	\$637.84	\$7,654.08	\$637.84	\$7,654.08
658.0175	Traffic Signal Face 5S 12-Inch	4	EA	\$960.00	\$3,840.00	\$954.83	\$3,819.32	\$954.83	\$3,819.32
658.0416	Pedestrian Signal Face 16-Inch	8	EA	\$515.00	\$4,120.00	\$511.81	\$4,094.48	\$511.81	\$4,094.48
658.0500	Pedestrian Push Buttons	8	EA	\$240.00	\$1,920.00	\$237.79	\$1,902.32	\$237.79	\$1,902.32
658.5069	Signal Mounting Hardware 30th Ave & 45th St	1	LS	\$3,500.00	\$3,500.00	\$3,440.13	\$3,440.13	\$3,440.13	\$3,440.13
659.1120	Luminaire Utility LED B	41	EA	\$370.00	\$15,170.00	\$360.60	\$14,784.60	\$360.60	\$14,784.60
659.2130	Lighting Control Cabinets 120/240 30-Inch	2	EA	\$6,400.00	\$12,800.00	\$6,380.82	\$12,761.64	\$6,380.82	\$12,761.64
690.0150	Sawing Asphalt	367	LF	\$2.00	\$734.00	\$1.00	\$367.00	\$1.55	\$568.85
690.0250	Sawing Concrete	7566	LF	\$2.00	\$15,132.00	\$1.65	\$12,483.90	\$1.95	\$14,753.70
715.0415	Incentive Strength Concrete Pavement	7160	DOL	\$1.00	\$7,160.00	\$0.10	\$716.00	\$1.00	\$7,160.00
	Unclassified Excavation	3978	CY	\$0.01	\$39.78	\$0.01	\$39.78	\$18.17	\$72,280.26
SPV.0060.03	Adjusting Sanitary Manhole Covers	22	EA	\$615.00	\$13,530.00	\$634.00	\$13,948.00	\$622.00	\$13,684.00
SPV.0060.04	Storm Sewer Tap	1	EA	\$270.00	\$270.00	\$1,305.00	\$1,305.00	\$1,305.00	\$1,305.00
SPV.0060.05	Adjusting Water Valves	22	EA	\$135.00	\$2,970.00	\$268.00	\$5,896.00	\$268.00	\$5,896.00
	Adjusting Curb Boxes	13	EA	\$195.00	\$2,535.00	\$134.00	\$1,742.00	\$134.00	\$1,742.00
SPV.0060.07	Sump Pump Connection	1	EA	\$200.00	\$200.00	\$1,304.00	\$1,304.00	\$1,304.00	\$1,304.00
SPV.0060.08	2-3/8" OD, 16 GA Galvanized Poles, 12-FT	46	EA	\$100.00	\$4,600.00	\$150.00	\$6,900.00	\$100.00	\$4,600.00
	30-Inch Round V-Loc	46	EA	\$60.00	\$2,760.00	\$150.00	\$6,900.00	\$60.00	\$2,760.00
	2 3/8-Inch Z-Bracket, Single Sided, Round, Pair	46	EA	\$10.00	\$460.00	\$13.00	\$598.00	\$10.00	\$460.00
	Street Name Sign Bracket, Pair	7	EA	\$30.00	\$210.00	\$18.00	\$126.00	\$30.00	\$210.00
	Locate and Replace Existing Property Monuments	15	EA	\$70.00	\$1,050.00	\$45.00	\$675.00	\$220.00	\$3,300.00
SPV.0060.13	Removing Existing Lighting Cabinet	1	EA	\$115.00	\$115.00	\$113.14	\$113.14	\$113.14	\$113.14
SPV.0105.01	Remove, Salvage and Reinstall Block Wall, Sta 134+84 RT	1	LS	\$200.00	\$200.00	\$4,500.00	\$4,500.00	\$200.00	\$200.00
	Remove Traffic Signals 30th Ave and 45th St	1	LS	\$3,400.00	\$3,400.00	\$3,394.15	\$3,394.15	\$3,394.15	\$3,394.15
	Traffic Signal Cabinet and Controller 30th Ave & 45th St	1	LS	\$22,000.00	\$22,000.00	\$21,692.79	\$21,692.79	\$21,692.79	\$21,692.79
	Radar Sensor System 30th Ave & 45th St	1	LS	\$44,000.00	\$44,000.00	\$41,446.78	\$41,446.78	\$41,446.78	\$41,446.78
	Emergency Vehicle Preemption 30th Ave & 45th St	1	LS	\$10,500.00	\$10,500.00	\$10,045.54	\$10,045.54	\$10,045.54	\$10,045.54
2. 1.3100.00		<u> </u>		+ .0,500.00	, J. 0,000.00	7.0,010.07	, 7.0,5 IO.OT	, , , , , , , , , , , , , , , , , , ,	→ . 0,0 IO.O⊤

SPV.0105.06	Southbound Radar Sensor at 30 th Ave & 52 nd St	1	LS	\$11,000.00	\$11,000.00	\$10,576.97	\$10,576.97	\$10,576.97	\$10,576.97
SPV.0165.01	Remove, Salvage and Reinstall Brick Driveway	101	SF	\$12.00	\$1,212.00	\$14.00	\$1,414.00	\$12.00	\$1,212.00
	Insulation for Water Main	534	SF	\$4.00	\$2,136.00	\$3.00	\$1,602.00	\$3.00	\$1,602.00
SPV.0170.01	Test Rolling	46	STA	\$50.00	\$2,300.00	\$40.00	\$1,840.00	\$67.70	\$3,114.20
	Stamped Concrete Driveway	32	SY	\$125.00	\$4,000.00	\$120.00	\$3,840.00	\$153.05	\$4,897.60
		ROADWA	Y SUBTOTAL			\$2,885,075.00		\$2,901,184.61	
Item Number	STORM WATER	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
204.0210	Removing Manholes	30	EA	\$385.00	\$11,550.00	\$899.00	\$26,970.00	\$899.00	\$26,970.00
204.0220	Removing Inlets	60	EA	\$220.00	\$13,200.00	\$351.00	\$21,060.00	\$351.00	\$21,060.00
204.0245	Removing Storm Sewer 8-Inch	188	LF	\$9.00	\$1,692.00	\$12.00	\$2,256.00	\$12.00	\$2,256.00
204.0245	Removing Storm Sewer 10-Inch	3200	LF	\$9.00	\$28,800.00	\$8.00	\$25,600.00	\$8.00	\$25,600.00
204.0245	Removing Storm Sewer 12-Inch	175	LF	\$9.00	\$1,575.00	\$12.00	\$2,100.00	\$12.00	\$2,100.00
204.0245	Removing Storm Sewer 15-Inch	133	LF	\$9.00	\$1,197.00	\$12.00	\$1,596.00	\$12.00	\$1,596.00
204.0245	Removing Storm Sewer 18-Inch	504	LF	\$9.00	\$4,536.00	\$12.00	\$6,048.00	\$12.00	\$6,048.00
204.0245	Removing Storm Sewer 60-Inch	16	LF	\$48.00	\$768.00	\$12.00	\$192.00	\$12.00	\$192.00
204.0245	Removing Storm Sewer 78-Inch	16	LF	\$96.00	\$1,536.00	\$12.00	\$192.00	\$12.00	\$192.00
520.8000	Concrete Collars for Pipe	41	EA	\$210.00	\$8,610.00	\$646.00	\$26,486.00	\$646.00	\$26,486.00
608.0318	Storm Sewer Pipe Reinforced Class III 18-Inch	55	LF	\$108.00	\$5,940.00	\$113.00	\$6,215.00	\$113.00	\$6,215.00
608.0324	Storm Sewer Pipe Reinforced Class III 24-Inch	63	LF	\$360.00	\$22,680.00	\$161.00	\$10,143.00	\$161.00	\$10,143.00
608.0342	Storm Sewer Pipe Reinforced Class III 42-Inch	960	LF	\$184.00	\$176,640.00	\$123.00	\$118,080.00	\$123.00	\$118,080.00
608.0360	Storm Sewer Pipe Reinforced Class III 60-Inch	16	LF	\$100.00	\$1,600.00	\$660.00	\$10,560.00	\$660.00	\$10,560.00
608.0378	Storm Sewer Pipe Reinforced Class III 78-Inch	16	LF	\$100.00	\$1,600.00	\$618.00	\$9,888.00	\$618.00	\$9,888.00
608.0415	Storm Sewer Pipe Reinforced Class IV 15-Inch	118	LF	\$95.00	\$11,210.00	\$157.00	\$18,526.00	\$157.00	\$18,526.00
608.0512	Storm Sewer Pipe Reinforced Class V 12-Inch	2756	LF	\$50.00	\$137,800.00	\$66.00	\$181,896.00	\$66.00	\$181,896.00
611.0624	Inlet Covers Type H	18	EA	\$695.00	\$12,510.00	\$636.00	\$11,448.00	\$633.00	\$11,394.00
611.0639	Inlet Covers Type H-S	49	EA	\$695.00	\$34,055.00	\$636.00	\$31,164.00	\$633.00	\$31,017.00
611.2004	Manholes 4-FT Diameter	21	EA	\$2,385.00	\$50,085.00	\$2,223.00	\$46,683.00	\$1,944.00	\$40,824.00
611.2005	Manholes 5-FT Diameter	7	EA	\$3,050.00	\$21,350.00	\$2,471.00	\$17,297.00	\$2,225.00	\$15,575.00
611.2006	Manholes 6-FT Diameter	3	EA	\$4,240.00	\$12,720.00	\$4,259.00	\$12,777.00	\$3,904.00	\$11,712.00
611.2007	Manholes 7-FT Diameter	3	EA	\$5,800.00	\$17,400.00	\$5,762.00	\$17,286.00	\$5,922.00	\$17,766.00
611.2504	Manholes Variable Tee 4-FT Diameter	2	EA	\$28,280.00	\$56,560.00	\$3,125.00	\$6,250.00	\$3,125.00	\$6,250.00
611.3230	Inlets 2x3-FT	67	EA	\$1,060.00	\$71,020.00	\$881.00	\$59,027.00	\$938.00	\$62,846.00
612.0208	Pipe Underdrain Unperforated 8-Inch	21	LF	\$55.00	\$1,155.00	\$173.00	\$3,633.00	\$173.00	\$3,633.00
612.0210	Pipe Underdrain Unperforated 10-Inch	26	LF	\$55.00	\$1,430.00	\$124.00	\$3,224.00	\$124.00	\$3,224.00
650.4000	Construction Staking Storm Sewer	103	EA	\$85.00	\$8,755.00	\$80.00	\$8,240.00	\$80.00	\$8,240.00
SPV.0060.01	Manholes 4x10-FT	1	EA	\$18,100.00	\$18,100.00	\$9,294.00	\$9,294.00	\$12,039.00	\$12,039.00
SPV.0060.02	Manhole Cover Storm	37	EA	\$615.00	\$22,755.00	\$562.00	\$20,794.00	\$560.00	\$20,720.00
		STORM WATER SUBTOTAL		\$758,829.00		\$714,925.00		\$713,048.00	
		BAS	SE BID TOTAL	\$3,475,857.61		\$3,600,000.00		\$3,614,232.61	